EAGRAROBREERT — 2 N— ABISH —F

20213814 (BH) 11EKR3H

m@?ﬁf‘ib‘ﬁti‘é S%FH C1=# 7R B
[x&£] 1 %:350,000 ™  2#&:123,000 W  3#%:70,000 43#%:35000 M ~ 53 :18,000 H
B B BEBR M HE BF (FE) g4 L (&%) | BBIEM | EOF [SIEE | AR | A2 | BEER (FRB) / BE / £ENS
. R SR AR 142, ~3-2- . — EREGAE (B%FE)
ilals ELk—_%xy 4y 7 5%_0 1(4_2)6 3-3-2-2 | 39.1 5 (ﬁa; 7:%22?%%
RX:A—I> 9y B:XTLyRyq>y BB ANIS
— o, N s o4 | BIFE 1:42.6 1-1-1-1 | 39.3| — 4 445 | tEBEBZ (RRRE)
2l7|7|E—=>7L1> 54.0 (hT) vy | VBER
LIET7R4A47 B:E—=2JL—> NSRS
. N ILIAER & : ~7-8- - THERE (B%RE)
355 KN4 EZ R — 44 o 1.?733.7 6-7-8-6 | 38.7 1 12(5);) Pk
R:ECTFAYY B:FACH REBHE
i 7 | ERRE 1:43.9 2-2-3-5 |40.4| — 6 508 | BREEAE (B%FE)
4lglg|7N—Tx—2R 56.0 ) (+5) 7(;%?-3)%7-
RHYIRT4 G52 B:5T v [Ev e ]
. S > 8 | FHEA 1:43.9 3-4-3-4 |40.2| — 3 496 | BRIIRE (KiR)
501]1 BTy 7= “ 7 s6.0 (75 =) (e |EWmE
L.nx4n BFTIT TR INHINHT 7— L
. N =iEiE .44, WA . — REEFD (KR)
Y= Tyl 4 5 il 1(14/42)0 5-6-6-7 | 39.4 9 (fg) e
LNy vH =l BiYIZLINTHAR SRS
S—J—h £ 6 | BOB— 1:44.3 6-5-5-3 | 40.1| — 2 479 | HEE%E (KR)
v 56.0 2 (-q) |MD) EvTA-Xb
L:N— KNy Bd—-dvrozq H—L— - JvIX> - T7—LERS
TR so4 | ARIEE 144.4 8-9-9-9 [39.0| — 8 484 | HEB= (KR)
TITT 56.0 (7€) “7) M
R:T—IWRI-2 B:J1iITI-L55> =ET e
5 4 6 | KIFE 1:44.5 9-8-7-8 |39.5| — 7 436 | HERAN (E%RE)
TLTHT 56.0 (3/4) o | @ 3>=>5-59F
R:AFAT—ILE B:93I5-—3 () HA2I-KRL—ya>AETr
® 1 — @B
|3=7r= 7,9,(1,8),6,(3,5),2,4
2ol=5"= 7,9,8,1,3,6,5,4,2
3a—F— 7.8,(1,9),3,6,4,5,2
43—F— 7,8,3,1,9,5,6,4,2
[ N
B 8 2,020 794K 7-8 750 & 7-8 1,840/ &R 5-7-8 1,430
# B 8 190M 5-8 290 B E 7-8 5,440M EE 8-7-5 21,640
7 230M 5-7 420M B H 8-7 7,340M
5 110

ARICOVWTRDTEEERROODE. TR LI,




